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) Filln the mizsing baxes in sach calculation.

) Draw lines between the columns to connect sach fact to another related fact. One has been done for you.

5e6= 3 sxe0- + o |-
“o-4s ¢ 60 ¢+ 4 ass00-
R ) 4 o0 + 4 s

<) What do you notice about the acts you have connected?

Colour the multiples of 6 and associated multiples from the 60+ or 600 tables toreveal a meszage. What doss the
message say?
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1) Complete the calculations and explain which s the odd one out

45050 = 36+

500 = 3000

2) Read the statements below. Are they trus orfalse? Explain why

1 can calculate the answers
for the 6 times table by
doubling the answers from
the equivalent facts in the 3
times table.

T can caleulate the answers
for the © times table by
halving the answers from
the equivalent facts in the 12
times table.

Grace

Al

1 can calcalate facts from the 6
times table by taking a fact from
the 5 times tabls then adding the
number I multiplisd by 5 to the
answer to calculats the squivalent
factfor the © times table.

Klaus
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1) Use the numbers in the target board to create the target number 60 from division and multiplication
caleulations that contain 3 and 6 table facts and related facts. The numbers on the board may be
used more than once per calculation. Find oz many solutions as you can





